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T H i & % O E % ) W
B EE (M BB v OE M (@R[ EERE| 1T B X N [ REHE N 0| BUE PR Xk | B AL B B ek | BLAE A PR AT 47 e D R | A IR i A | B/ BE Ok [ B fE L B
DOFE(AN 7 NAD NAH AE N [ AT I AT T
BtAtEA R [ H H | # A H K o|oFk
Eilt e A (AN)] B (\) (N)] C (AN)] D (A) (ha)| E (ha) (ha)| F (ha)
K H ] 1.18.08.01 1.18.11.01 | H.18.04.01 2 2 224,271 4,503 1,400 1,400 1,400 17,554 647 647 647
g 224,271 4,503 1,400 1,400 1,400 17,554 647 647 647
H1 EEAHXS 1 =414 2 =M H5
H2 EHERBOFE 1 =& 2 =FFRE
I OH it B & [0 > b IS Bl IS NN - i
i K g3 KWEAL R T Kk & |FFEIQEREES| Bl A F B |4 R R ALE [4ERTAIOK B B H o N R
FFECEIRN A 4y | BE N T 4 | AR Sy i 3%t R AER K B |k & H/GX100 | ( )PIEHELE 5Kk B %
C/A X100 C/BX 100 F/E X100 D/C X100 HEWER [EFEEBR] B & &
il (%) (%) (%) (%) (km) (m3/H) (m3/H)| G (m3)| H (m3) (%) OGBHE) (FH) (1)
K H G 0.6 31.1 100.0 100.0 591 274 100,152 100,152 100.0 1 ( ) 38,368
g 0.6 3L.1 100.0 100.0 100,152 100,152 100.0 1 ( ) 38,368
T H T = 7 Bt
Z JH o AN &R f Jii] ol & ZASE A # A It g3 B 5 #
RN K AL EL R [E OB IR R |6 OB BE A | AL EE SR A [ RE % [l I SR [R5 E20m3 | 5K A R [ I K P R [RRE I K R E B R E TS0 | A 23S
MREHAR| B A & 720 f B =g &
il (19) (T-H) (M,/m3) (1,/m3) (%) () (%) (%) (%) (%) (1) (%)
K H i 2 101.00 265.67 38.0 2,182 104.5 104.5 16.9 —
g 101.00 265.67 38.0 104.5 104.5 16.9 —
H3 fAEHRR 1 =IKE B LL B 2 =1t il 3 = S|
4 = EFHH| 5 = K& AR 6 =% D1t
T H e = 57\ B
WAm fE A B % Fl i g3 [E] [ g3 “ PE . “ K i 5% It g3
WO AR MEHEER] e & R [ R & A [ R &G A |HEEE | BECEAR B EEE|BCTAB|ECEAR|E & R [EEEES| 7 & b [ 2 )% k|85 &
{8 A0 #5 | flF 28 | RREFIER | HEAESE | B & 1 T S 3y o =SS I 1) o = o= I 1) o = o= EWIEARILE
il (%) (%) (%) (%) (%) (Ia1) (I=1) (%) (%) (%) (%) (%) (%) (%) (%)
K i i 3.8 23.2 0.4 0.4 N 7.0 0.02 0.03 81.0 24.3 72.1 112.3 8.1 527.1 508.3 158.2
= 3.8 23.2 0.4 0.4 A 7.0 0.02 0.03 1.0 24.3 72.1 112.3 8.1 527.1 508.3 158.2
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HOH [l A [iB] 1 53 D f® i
[ & 5] Iz A [ s 5] 53 tH
O IR R O B IR [ERENROD]E EAAR] R A R [REoIB] B OB A | REEAB|E EDL A [EEEAOD|E EA L] B A K
a=c+e+f | b=c+e Z Rt TR AR fh & FHi A4 g=itk+1 h=i+k ZEHTHEM
A4 (1) (FH)| c (FH)|d (FH)| e (FH) | f (TF1) (1) (T1) (FH)| i (FHD| (M) | k (FHD| 1 (1)
KOOH il 67,883 67,883 10,115 57,768 40,084 64,977 64,975 60,023 4,952 2
= 67,883 67,583 10,115 57,768 70,084 64,077 64,975 50,023 1,052 2
I H [l s [iB] [l B D BN i
MO [ R BR K[ E EBRK|RLSFIRLE S A & Jii] i %
T A& A& O [ FAGEERE X 8 F] & WA A E ] & R & E=
a—g b—h (c-d)—G-j) [R B X HEAE E XN LR NS
A4 (TH) (T1) (1) (1) (1) (1) (FH) [ FE () (1) (1) (1)
KB il 2,906 2,908 49,908 23,361 10,115 2,943 2,943 23,664 33,926
= 2,006 2,008 719,908 23,361 10,115 2,013 2,043 3,604 33,026
HOH & ES 5] I = D ®R L
7 EN 5] [ A
A ¥ E (WS FHHE A th &5 AR 2 58| 12 54 B 4 ;ﬂé % e |EH-R@ha| THEAHLE] £ o i [T
e H R &
A4 (TH) (T1) (1) (T1) (1) (T1) (1) (1) (1) (FH)| m (1)
KB il 10,800 15,011 11,264 2,704 39,779 39,779
= 10,800 15,011 11,264 2,704 39,779 39,770
HOH & ES 5] Iz 53 D iR L 1 E B ik =] 25 5 [
iz g B} = tH W X 7= 5l | Ml B\ MR HEHE|BEARAYE it
Ak R R CEEERE[ M REM|MEHIHE] £ o 7 B OB o |W B &
8 NG 4 m—n
A4 (1) (T1) (1) (1) (FH)| n (1) (1) (1) (1) (T1) (1) (T1)
KB il 37,363 5,120 42,483 2,704 2,704 183,043 6,660 6,660
= 37,363 5,120 12,183 2,704 2,704 183,043 5,660 5,660




